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Hu: L=l ZX
SRl THOtQl MEoHE X2 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
=N\ 193, 159,480 158,228,115 34,931,365
= 147,084,784
Al HI 38,610,696
Tyl 7,464,000
Lo=x =8 158,018,935 123,054,995 34,963,940
=2 121,738,246
Al HI 29,484,955
Tl 6,795,734
THOL= Ol MEOHY X|& 150,043,593 114,992,001 35,051,592
=2 119,102,572
Al Hl 25,101,793
=yl 5,839,228
=32 X2 145,980,717 110,929, 125 35,051,592
=2 116,784,574
Al HI 23,356,915
24| 5,839,228
301 et M= 145,980,717 110,929, 125 35,051,592
=2 116,784,574
Al Hl 23,356,915
24| 5,839,228
01 M EXEE 4562 145,980,717 110,929, 125 35,051,592
OJl=d= 145,980,717,000& 145,980,717
= 116,784,574
Al HI 23,356,915
24 5,839,228
gAY 2234 247,958 247,958 0
Al HI 247,958
307 2Iz2to| A 247,958 247,958 0
Al HI 247,958
05 QIZ2tR E 2 247,958 247,958 0
OdzAYd R34 247,958,000 247,958
Al HI 247,958
NAE I I ALAFBH & 200,562 200,562 0
Al H] 200,562
307 QI2t0| & 200,562 200,562 0
Al HI 200,562
05 QIZtRES 200,562 200,562 0
ONMAS MIFEQl AIAIHHE 200,562,000& 200,562
Al HI 200,562
LOo/g LOoINX& 284,900 284,900 0]
Al Hl 284,900
301 et ™M= 284,900 284,900 0
Al HI 284,900
01 M3 EXEE 4562 284,900 284,900 0
O2ole oA X 284,900,000 284,900
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

| Al'HI 284,900

Logts=s NUlA X 3,266,340 3,266,340 0
2 2,286,440
Al HI 979,900

307 2Iz2to| & 3,266,340 3,266,340 0
2 2,286,440
Al HI 979,900

11T AISIEXAIEEX 3,266,340 3,266,340 0
OokolgsssAME A N 3,266,340,000& 3,266,340
= 2,286,440
Al Hl 979,900

SHEQ - SR SSHE LS AHIA 63,116 63,116 0
= 31,558
Al HI 31,558

307 giztol & 63,116 63,116 0
= 31,558
Al HI 31,558

05 QIZtR ES 63,116 63,116 0

OEAHLQ - ESEMC St S HH A

63,116,000 63,116
2 31,558
Al HI 31,558

colgRel 25 2 0IES X 4,714,629 4,752,181 A 37,552
2 1,747,469
Al HI 2,399,254
24l 567,906

Loladxie & Al E2ESAE =20 3,281,900 3,281,900 0
= 1,640,950
Al HI 1,640,950

307 2I2+0 & 3,281,900 3,281,900 0
2 1,640,950
Al HI 1,640,950

05 QIZ2t E 2 3,281,900 3,281,900 0
OLoldxel AP A& 3,281,900,000& 3,281,900
= 1,640,950
Al HI 1,640,950

ALIEE 29 241,940 241,940 0
Al Hl 205,650
24| 36,290

307 QI2t0| ™ 241,940 241,940 0
Al H] 205,650
24| 36,290

05 QIZtREZ 241,940 241,940 0
OAMUEE 29 241,940,000 241,940
Al HI 205,650
Tl 36,290
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SA BB (3H) - NRAY - B Ol At o %@i HRE2
dZ & dutetyl & 351,000 351,000 0
= 87,750
Al HI 175,500
T 87,750
307 2Iz2to| & 351,000 351,000 0
= 87,750
Al HI 175,500
Tyl 87,750
11T A EXAIEEX 351,000 351,000 0]
odz4 s&)J| et = 312,000
= 78,000
Al HI 156,000
24| 78,000
OZ=2E Gt&D| Wetd| X2 39,000
= 9,750
Al HI 19,500
T 9,750
dz e =4 XA 73,669 73,669 0
= 18,769
Al HI 37,537
T 17,363
307 2Iz2t0| & 73,669 73,669 0
= 18,769
Al HI 37,537
Tl 17,363
11 A EXAIEEX 73,669 73,669 0
odz4g &= I 73,669,000 73,669
= 18,769
Al HI 37,537
24| 17,363
d2E 249 538,200 526,200 12,000
Al HI 280,800
24l 257,400
307 gizto| A 538,200 526,200 12,000
Al HI 280,800
I 257,400
11T AISIEXAIEEX 538,200 526,200 12,000
oZzd 89 & 538,200,000& 538,200
Al HI 280,800
Ty 257,400
DsE 32 249 A& 57,600 64,800 AT,200
307 QI2t0| ™ 57,600 64,800 AT,200
10 A SEXNANEEHESIH EX 57,600 64,800 NT,200
onss gz 29 N
150,0008 = 32044 + 1204 & 57,600
=HE B2Y /A2 9,750 9,750 0




A SXAS I
M o=y =X
S Lodie &5 2 Hotgs N2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al'H] 4,875
L Hl 4,875
301 LEAZ 9,750 9,750 0
AlHI 4,875
T Hl 4,875
01 MEI2EZE+05l= 9,750 9,750 0
OF&YZE d2Y A2 9,750,000 9,750
Al 4,875
4l 4,875
Z2Y =3 T2 0 2 A X 35,784 35,784 0
Al HI 17,892
I 17,892
307 21201 A 35,784 35,784 0
AlHI 17,892
I 17,892
11T M3 SXAISEEX 35,784 35,784 0
OZ2Y &3 Z2 03 22| Xt Xl
35,784,000& 35,784
Al HI 17,892
I 17,892
I2Y 245 ALY 16,850 16,850 0
Al HI 16,850
307 21201 A 16,850 16,850 0
AlHI 16,850
11T MISAASEX 16,850 16,850 0
oZzd g4ds XA 16,850, 000& 16,850
AlHI 16,850
Z22g el 67,760 109,504 ANA4T, 744
201 Let24d] 3,960 3,600 360
02 =24l 3,960 3,600 360
OQeHY 2= ¥ PC E= 3,960,000 3,960
301 LPEAZ 13,800 13,860 A 60
01 MEI2EZE+06l= 13,800 13,860 A B0
O 82 3=2Y A= 60,000 » 23004 & 13,800
401 AIEHI L 2CHYI 40,000 40,000 0
01 A& HI 40,000 40,000 0
O&dzg B 40,000,000& 40,000
405 XHobF S HI 10,000 52,044 N42,044
01 AL ESFH S 10,000 52,044 N42,044
ozz4g =235 XA 10,000, 000& 10,000
Lolws 2AEXA 24,000 24,000 0
AlHI 19,200
T Hl 4,800




A SXAS I
¥ Lol=x B
Sl LolgXiel #E ¥ 0IIES X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 24,000 24,000 0
AlHI 19,200
T Hl 4,800
11T M SXASE EX 24,000 24,000 0
Okeolna 29 XA 24,000,000& 24,000
Al 19,200
I 4,800
Lol HAEMUIA X 16,176 16,784 A 608
203 YR =& 2,592 3,200 A 608
03 AIBFAH S =AY 2,592 3,200 A 608
OkLoN2g 2= 630,000& *90% 567
OAMot-S0tE SAEH2E HRFA
630,000& *90% 567
OLQ=XAE SALLL 203l 810,000& x90% 729
O=XAH A S2FA 810,000& *90% 729
301 LA F 13,584 13,584 0
01 AR 2Z A5 3 12,000 12,000 0
OMAS oA AZEEE
1,000,000& »12& 12,000
0B M ELRIBAS 1,584 1,584 0
OLogge d38x 1,584
= Al 6,000 «1H»222 «12& 1,584
Lol AE 2HRA 1,989,893 1,989,893 0
= 888,205
Al 1,101,688
LZAE 23 497,579 497,579 0
= 314,705
AlHI 182,874
307 glz2tol & 497,579 497,579 0
= 314,705
AlHI 182,874
10 ALSISXAIEEE2EHEX 497,579 497,579 0
OSLZAE 23 497,579,000 497,579
= 314,705
AlHI 182,874
LORQAASE BEALN =X=E X 191,960 191,960 0
Al 191,960
307 21240 191,960 191,960 0
Al 191,960
10 M2 SXNANEHE2IHEX 191,960 191,960 0
OLQQAAE SAL SX=E
191,960, 000& 191,960
Al 191,960




A SXAS I
M o=y =X
Sl COIAAIM 2K (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
HAZSAH(EZAIE) 637,222 637,222 0
= 573,500
AlHI 63,722
301 LEd = 637,222 637,222 0
= 573,500
Al 63,722
01 Ml2ZHE 6= 637,222 637,222 0
OLQ=ERAIE AaX HASH
637,222,000 637,222
= 573,500
AlHI 63,722
LORAANE SSAN RFES X 236,144 236,144 0
AlH 236,144
301 LeEBAF 236,144 236,144 0
Al HI 236,144
01 MI2ZE 6= 236,144 236,144 0
OLeAILEE SS2AX BRES
236,144,000 236,144
AlHI 236,144
MOt =SXAIE 298 X2 426,988 426,988 0
Al HI 426,988
307 212+0| & 426,988 426,988 0
Al HI 426,988
10 M2 SXNANEHES2IHEX 426,988 426,988 0
OMI=QA=RAE (4HL) 2 X2
426,988,000 426,988
Al 426,988
LosX2 28 & teteelg X 1,270,820 1,320,920 250,100
Al Hl 882,220
I 388,600
ANBAR Ol = X2 2 495,480 495, 480 0
Al HI 353,280
I 142,200
307 21201 A 495,480 495,480 0
Al HI 353,280
I 142,200
05 RIZt2IEt = 495,480 495,480 0
OAGtAIZE ol =X2 29 495,480,000 495,480
AlHI 353,280
- Hl 142,200
MEHAEH ISR 2 22 495,480 495,480 0
Al 353,280
- Hl 142,200
307 21201 A 495,480 495,480 0
Al 353,280




2AMd: SXALS
¥ Lol=x B
Sl LoISXR 2Y U (fetkols X CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
- i 142,200
05 RIZHRI &t 3 495,480 495,480 0
OdEEAEMN =SR2 2F 495,480,000 495,480
Al 353,280
Tl 142,200
MBBANH=SI2 29 230,560 230,560 0
Al HI 163,660
I 66,900
307 21201 A 230,560 230,560 0
Al HI 163,660
I 66,900
05 QI &3 230,560 230,560 0
OuEAMEH=X2 2Z 230,560, 000& 230,560
AlHI 163,660
T Hl 66,900
tHet-olsl SAESAYE X2 49,300 37,300 12,000
AlHI 12,000
-4l 37,300
307 glz2tol & 49,300 37,300 12,000
AlHI 12,000
-4l 37,300
02 IZHE M AHE L 14,300 14,300 0
oke=Xsd g5 XA 10,000, 000& 10,000
OLn=sd WEHl XL 4,300,000& 4,300
03 BIZIGHHEH 2 HHIEX 35,000 23,000 12,000
Oougt-ols 2498 X 35,000, 000& 35,000
Al HI 12,000
2 HI 23,000
Ol =X X 19,048,030 18,947,393 100,637
= 10,951,874
AlHI 8,006, 156
-l 90,000
Zoer=x &8 16,681,493 16,576,896 104,597
= 10,891,924
AlHI 5,741,939
-l 47,630
FoelAs 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066
301 LEAZ 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066
01 A3l EE & 563 6,136,886 6,136,886 0
OFelAZz 6, 136,886,000 6,136,886
= 4,295,820
Al 1,841,066
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Zo=g(0l=x) 1,140,000 1,140,000 0
= 798,000
AlHI 342,000
301 getEd 3 1,140,000 1,140,000 0
= 798,000
Al 342,000
01 A3l EE E 56l = 1,140,000 1,140,000 0
OFM=Z (=) 1,140,000, 000& 1,140,000
= 798,000
Al HI 342,000
Zo=g(MHARAS) 502,100 502,100 0
= 351,470
AlHI 150,630
301 LBEAZ 502,100 502,100 0
= 351,470
AlHI 150,630
01 MEIBEE 2053 502,100 502,100 0
QXM= (X&) 502,100,000& 502,100
= 351,470
AlHI 150,630
ZOHQITHE =S R 380,000 380,000 0
Al 380,000
301 LEAF 380,000 380,000 0
AlHI 380,000
01 Al EE X =56l = 380,000 380,000 0
OZoe Mg 380,000, 000& 380,000
AlHI 380,000
Foetd s4 2 2xs NE3 N2 30,000 30,000 0
301 EEMZ 30,000 30,000 0
01 A3l EE E 56l = 30,000 30,000 0
OZOMLAIE s4& & 25 X3 N
30,000,000& 30,000
HeZoHel s4HE K& 6,000 6,000 0
= 4,200
Al 1,800
301 LBEAF 6,000 6,000 0
= 4,200
Al 1,800
01 Al EE H 06l = 6,000 6,000 0
OWLZ SAHEXJ ALY
1,000, 000& 62X 6,000
= 4,200
AlHI 1,800
ool ozHl XN 207,995 207,995 0
= 166,396




SM: =XAD
M mojoI=N X
Sl FOfOISK B

= - - SHE]|
SN FHE - B(BA) - MRAY - BHES Ol &t o4 e
Al'H] 41,599
308 XXM S0 A 207,995 207,995
- 166,396
AlHI 41,599
11 SISO CHE B A X 2 E AL HI 207,995 207,995
O&oel o=l XA 207,995,000& 207,995
= 166,396
Al 41,599
MASEOHe MeH L ZAH K& 10,000 10,000
= 5,000
Al HI 5,000
301 LPEAF 10,000 10,000
= 5,000
AlHI 5,000
01 A EE E 2563 10,000 10,000
OMASEOQ XEdl L 2 At X &
10,000,000& 10,000
= 5,000
Al HI 5,000
HAYHOIS QABLBOIR +&X & 6,000 6,000
Al HI 6,000
301 LBEXZ 6,000 6,000
AlHI 6,000
01 MEIBEZE 053 6,000 6,000
OBAFUOIE ABLHOIZ =X
6,000,000& 6,000
Al HI 6,000
FojQIEEIIN(HELEEIT) DB 12,930 12,930
= 10,344
I 2,586
301 LEPEXZ 12,930 12,930
= 10,344
T Hl 2,586
01 Al EE E 5613 12,930 12,930
OFMABERII(MEEXRIF) U8
12,930, 000& 12,930
= 10,344
-l 2,586
ZoHol det ARt XA (HLH) 518,644 518,644
= 259,322
AlHI 259,322
301 LEXZ 518,644 518,644
= 259,322
AlHI 259,322
01 Al EE & 563 518,644 518,644




S XA
D HM=sX K
D EMYSsX s

. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %E& HRE2
SEEIEEEEREREICEEED)
18,644,000 518,644
2 259,322
Al HI 259,322
ool LBtE ATl X (Al2HAD) 67,074 67,074 0
= 33,537
Al HI 33,537
301 et A= 67,074 67,074 0
= 33,537
Al HI 33,537
01 Al E & A %52 67,074 67,074 0
OFojol Ava A2l K (A2HH)
67,074,000 67,074
= 33,537
Al HI 33,537
ool sXAE LA XA 238,680 238,680 0
= 119,340
Al HI 119,340
301 et M3 238,680 238,680 0]
= 119,340
Al HI 119,340
01 AISIE& A %52 238,680 238,680 0
OHMe EXNgLdXxel N 238,680,000 238,680
= 119,340
Al Hl 119,340
SSAEMC XS UFH FAXNF 34,410 0 34,410
= 17,310
Al HI 17,100
201 LBt Y| 210 0 210
= 210
01 AP 22| H| 210 0 210
OZE&HM2 XNgU=szE FHEAH 210,000& 210
=2 210
308 XX SHHSOIH 34,200 0 34,200
= 17,100
Al HI 17,100
11 2| 2S0UstE A A 2AE A 34,200 0 34,200
OZS&HHC XNEUsE F;HEXA
34,200,000 34,200
= 17,100
Al HI 17,100
ZofeIE S (HRA) 5,520,000 5,520,000 0
= 3,864,000
Al HI 1,656,000
308 MXISHMSOIA 5,520,000 0 5,520,000
= 3,864,000
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Zoel=x XA
HojeI=X SA (e
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al'H] 1,656,000
N 3JN2SHUe3&HAE AR 5,520,000 0 5,520,000
OXMHIESKA(BIRA) 5,520,000, 000& 5,520,000
= 3,864,000
Al 1,656,000
ZOHQIE S XA (AlBl) 403,218 403,218 0
Al HI 403,218
308 XXX S0IA 403,218 0 403,218
Al HI 403,218
N 3IN2SUHUE3 LS A 403,218 0 403,218
OOl &SI (Alll) 403,218,000 403,218
AlHI 403,218
22X EN 5,370 5,370 0
= 3,759
AlHI 1,611
308 XXX S0 A 5,370 0 5,370
= 3,759
AlHI 1,611
11 32SoHUHSBHEAEALS I 5,370 0 5,370
OssEXIHM30 5,370,000& 5,370
= 3,759
AlHI 1,611
LEMEAE A TR 1,189,878 1,189,878 0
= 832,915
AlHI 356,963
308 XXM S0l A ,189,878 0 1,189,878
= 832,915
AlHI 356,963
N 3JN2SUHUe3AHAE AR ,189,878 0 1,189,878
OZYMaEAMH A XA 1,189,878,000& 1,189,878
= 832,915
Al 356,963
ALY Ht2H XN 2,193 2,193 0
= 1,535
Al 658
308 XXX SO0IA 2,193 0 2,193
= 1,535
Al HI 658
M 3IN2SUHUE3 LS A 2,193 0 2,193
OgegR& 2,193,000& 2,193
= 1,535
AlHI 658
LEHMHS RPR4E XA 4,000 4,000
= 2,800

AlHI 1,200
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
308 XXM SO0 A 4,000 0 4,000
= 2,800
AlHI 1,200
11 S 2 SOCHE B & X 2 E A HI 4,000 0 4,000
Oggzofel 22 deladd XIF 4,000,000 4,000
= 2,800
Al HI 1,200
LI FAESMHUAXNR 101,643 101,643 0
= 71,150
AlHI 30,493
308 XXM S0l A 101,643 0 101,643
= 71,150
AlHI 30,493
N 3IN2SUHUS3 &S A 101,643 0 101,643
OLYTOY FAHSHHIA X2
101,643,000& 101,643
= 71,150
AlHI 30,493
HEZOHC F2ABSMUIA AIBIFIXE AL 40,820 0 40,820
AlHI 40,820
308 XXM S0 A 40,820 0 40,820
AlHI 40,820
N 3JN2SUHUS3AHAE A 40,820 0 40,820
OZLHM F2AESMHHIA AIHIFIIXR
40,820,000 40,820
AlHI 40,820
AW ¥ RS SMHE A XL 78,608 78,608 0
= 55,026
AlHI 23,582
308 XXIEtH SO0l A 78,608 0 78,608
= 55,026
AlHI 23,582
11 SISO CHS B & X< E AL HI 78,608 0 78,608
OFAY LLHHSY HUSHSHHA X
78,608,000 78,608
= 55,026
AlHI 23,582
HAHNE ES 5,044 5,677 A 633
201 L2l 4,477 4,977 A 500
01 At 2t 2l 4,477 4,977 A 500
OXOHQl HA AR OHLHEI X2
15,000& 202 300
OdsEFR s8I w2+
100,000 *9H 4 900
OFoHel XtsXHEX M= 1,000& »2,4770H 2,477
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o =X X
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= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OF2AZMe =3t 100, 0002 *63l 600
OAZZoHe HEXAEIA ME 800& *250H 200
203 PR =&l 567 700 A133
03 Al =X A2 =XH| 567 700 A 133
OFOHAEH X AIESAX 23
630,000& *90% 567
ZHI=REE 25 XA 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 IAtFAAFE X 10,000 10,000 0
OFer=xs2d g5 XA 10,000, 000& 10,000
FOHel =22t AEBESA 2F 30,000 0 30,000
AlHI 30,000
307 glz2tol & 30,000 0 30,000
AlHI 30,000
05 RIZHRIE 3 30,000 0 30,000
OFHe =22t dAESA 2E N2
30,000,000& 30,000
AlHI 30,000
ZOUI=EXAE X3 2,363,167 2,363,167 0
= 59,950
Al 2,264,217
- Hl 39,000
Fope=XN2 2AXE 997,666 997,666 0
Al 967,666
Tl 30,000
307 21201 A 997,666 997,666 0
Al 967,666
Tl 30,000
05 BIZHRIE 3 997,666 997,666 0
OFel=x2 2L X2 997,666,000 997,666
AlHI 967,666
I 30,000
Aot HofeEXa =22 2% 42,100 42,100 0
AlHI 42,100
307 i+l & 42,100 42,100 0
AlHI 42,100
05 RIZHRIEF 3 42,100 42,100 0
OAlSt= o Ei2 S8 29
42,100,000& 42,100
AlHI 42,100
Zofel =2t ESAIE 2SR 428,749 428,749 0
AlHI 428,749
307 glz2tol & 428,749 428,749 0
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=S XA Bt
o =X X
FUA=TAIE X

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al'H] 428,749
10 M SXNANEEHE2IHE=x 428,749 428,749 0
OXTOLl =2t ESAE 2 XNA
428,749,000 428,749
AlHI 428,749
ool Ngge 22 &4 K& 31,563 31,563 0
AlHI 22,563
T Hl 9,000
307 glz2tol & 31,563 31,563 0
AlHI 22,563
T Hl 9,000
10 M ZXNANEHI2IHE=S 31,563 31,563 0
O&EOeIXIgge 2243 X
31,563,000 31,563
AlHI 22,563
-l 9,000
ZOHAMATHEANE (B EGE) 29 K& 208,077 208,077 0
AlHI 208,077
307 gl2tol & 208,077 208,077 0
Al 208,077
10 M SXNANEHI2IHE=X 208,077 208,077 0
OFMLANIHEANE(BESHASE) 2E X
208,077,000& 208,077
AlHI 208,077
FSsMHEIIE 2IXNE 381,625 381,625 0
Al 381,625
307 gl2tol & 381,625 381,625 0
Al 381,625
10 M SXNANEHISIHEX 381,625 381,625 0
O H&IE 2L XA 381,625,000& 381,625
Al HI 381,625
SSTH NEHMEHMEH X3 149,875 149,875 0
= 59,950
AlHI 89,925
307 glz2tol & 149,875 149,875 0
= 59,950
AlHI 89,925
10 M EXNANEHE2IHE=x 149,875 149,875 0
OZES &M XSHMEHE XA
149,875,000& 149,875
= 59,950
AlHI 89,925
SSTHL NPMEHEE 22 18,000 18,000 0
AlHI 18,000
307 glz2tol & 18,000 18,000 0
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=S XA Bt
o =X X
FUA=TAIE X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 18,000
10 ALSISXAIEEE 22X 18,000 18,000 0
OZZTEMY IHSEMEHESE 28 N
18,000, 000& 18,000
AlHI 18,000
NEMetdy AT HEE3HZ XA 14,000 14,000 0
AlHI 14,000
301 LEAZ 14,000 14,000 0
AlHI 14,000
01 MEIE2EZE 45z 14,000 14,000 0
OXNgHedy e NEFES X
14,000, 000& 14,000
AlHI 14,000
ZOAEXRI| I seldlH 29 91,512 91,512 0
AlHI 91,512
307 gl2tol & 91,512 91,512 0
Al 91,512
05 RIZIRI & 3 91,512 91,512 0
OFMAB=III=cldEH 28  91,512,000& 91,512
Al 91,512
SSEIMER XIS 3,370 7,330 A 3,960
S XTAt 23 NE 3,370 7,330 A 3,960
201 24l 3,370 3,370 0
01 At 22l 2,650 2,650 0
OAZIE2EZ0H MM HA QI
165,600 1601 = 2,650
02 =224l 720 720 0
OYESXZAL 82 SAFH M
20,0003 «3CH*12& 720
HAHSFHINE 16,000,571 16,004,071 A 3,500
= 14,394,664
AlHI 1,119,585
T Hl 486,322
HAANSF=HNE 16,000,571 16,004,071 A 3,500
= 14,394,664
AlHI 1,119,585
T Hl 486,322
FH=0O 15,994,071 15,994,071 0
= 14,394,664
AlH 1,119,585
- Hl 479,822
301 2N = 14,331,743 14,331,743 0
= 12,898,569
AlH 1,003,222
T Hl 429,952




EX: XA I}
BE: HAHEZHAL
CHel: HAAHEF=HIAHA CEE-ED
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
01 Al E & A 452 14,331,743 14,331,743 0
OFHZAN 14,331,743,000& 14,331,743
= 12,898,569
AlH] 1,003,222
24| 429,952
403 XX SRS R 20| & 1,662,328 1,662,328 0
= 1,496,095
Al Hl 116,363
24| 49,870
02 2| 2SO Uet =222 ELAIS Y 1,662,328 1,662,328 0
O RAN2SA 1,662,328,000& 1,662,328
= 1,496,095
Al H] 116,363
T 49,870
AIPRAMOIIE X & 6,500 10,000 A 3,500
307 2Iz2t0| & 6,500 0 6,500
11 A EXAIEEX 6,500 0 6,500
OY9RAUOIIEW BotE &2
6,500,000& 6,500
HESAHAY (2 XAE D) 91,944 121,656 N29,712
Jl2dtl 91,944 121,656 N29,712
Jl2&H| 91,944 121,656 N29,712
201 et 19,416 19,416 0
01 AP 2t 2] H| 19,416 19,416 0
OFMA8gx=2H| 9,396,000 9,396
OJl2gess 2aH| 10,020,000 10,020
202 04d| 68,208 97,440 N29,232
01 2Ll 68,208 97,440 N 29,232
OJI2gf=3 0yl 97,440,000& *70% 68,208
203 & R =&t 4,320 4,800 AN 480
04 FEASHEYIFFEH| 4,320 4,800 AN480
OEMNSIg Y28 4,800,000 x90% 4,320




